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1| void time_integration (

2 double xx, double t, double dt)

3] {

4 // 00000000 s

5

6|

70 ...

8 | t=t_start;

9 | while (t<t.end) { .
10 time_integration (&x,t,dt); . >
11 t += dt;
12 | ) to

t
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% = f(x, t), Xi+1 = X; + Atf(xi’ tl)

double calc_f(double x, double t)

{
// 00000 f

}
void time_integration( double =x, double t, double dt)
{

double f;

f = calc_f(xx, t);

*X = *X + dt = f;

}

t=t_start;

while (t<t.end) f{
time_integration (&x,t,dt);
t += dt;

}
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void leapfrog(double =x, douvle %v, double t, double dt)

{
// 000000000000000O0

}

while (t<t.end) f{
leapfrog (&x,&v,t,dt);
t += dt;

}
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void calc_force (double =x)
{
// 000000

}
void leapfrog( double =x, douvle =V
double t, double dt)

{
// 000000000000000O0

}

while (t<t_end) {
leapfrog (&x,&v,t,dt);
t += dt;

}
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1| void calc_force(int n,double m[]
2 double r[][3],...) {
3 for (i=0;i<n;i++) {
4 for (k=0;k<3;k++) {
5 ali][k]=0.0;
. | gooono
7 }
8 for (i=0;i<n—=1;i++) { N 2 - i
9 for (j=i+13j<n;j++) ZGmf J
10 ali][k] +=m[j]*...; -~ L 22 4 2)3/2
ie S e P (1% — > + €)
12 }
13 }
14 | }
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